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Question 1 (continued)

“fponts
@ 3 points.
For sny indicution st h ek doo vt el e it sy st ot e Tpoint
Somenee o cion
o~ 3l
For comet ivition Tpoint
Fisn = ~5050k8){42/")
For thecomctsnswer ncing the egatve sign Tpoint
P
©
1 poat
1 poat
1 pot
(1 point)
The cart il oo contctwhes me.
et will et pee - o s, an st second e il
moeace v e snditon wll e et
Focting toh stustion - mg ~ 2. snd idicaing it ot will (Lpoin

looze contactwhen N < 0
For indicating that the speed at 4 will increzse @t poin)




image1.emf

image2.emf

image3.emf

image4.emf

image5.emf

image6.emf

